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« 2] ~E (list)

[h—

-

o 2 Ayt ° AMEEH = AR gis) vl A5y
Al (sequence) A2 O ZF FAE (list), = (tuple), AFA (dict)

e Y2 [t YA 729 dolg o)),

N TE=[ ol e ]

« 5= (tuple)

CPag (o] ke AR TR

AR TE=( e FE )

« A4 & (dictinary)
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« Z1,30 9 FAE {)<bel st AR 29 HolH ol

« EE A= {19 ]"70, '5-51":80)



s Solld #A%dE Bl HolHE Rdsks A, Tgel |, e
ShaL W ol A el A o

o ol =Mz WryYS Poko] AFT F AFUTh Lot ol 10742
218 % Aelshl Aelsh) sfskel sfolal oAl ol = Gist) 2 SHEROA

7) 3HEL ABBOT B AE 5T WED JAEF WS BB o o9 (49,89 s 3
o] Abg-ateh

>>> 38 = [HolHZ EAs= AR, 'Fol’ 58 ] #Y2EFASFHE) Y AR (=) A~

EAZ([HolHZ Za@st= A | 'edo]’ 2= 1)
>>> #5101 #R (O AAAE Z=

'Holg & F3 = A

>>> A= (1] #1WA 5 F=x

’05101‘

>>>




2.1 g]2=E(list) (cont.)

LR nEe] 44 B 2 4%}

>>> s=['math',80,70,75.0] #32=E A (A)
>0 s

['math',80,70,75.0]

>>> s=I1] #yWe 2E
>>>'s

[]

>>> s .append('math’ ) #8457}
> s

['math']

>>> s .append(80) #Q 237}
> s

['math',80]

Adx 0 1 2 3
2| AE s=['math', 80, 70, 75.0]
=R R B R A |

E 9] &8lo] A (slicing) , 938, 5 A

« 2]~ E indexing (&%), slicing (&717])

>>> s=['math',80,70,75.0] #z]~E A (x9))

>>> s[0] 2] 2EQYA AL FZ

"math’

>>> s[1] #) 2EQYA 1HASLE FZ

80

>>> s[-11 #2)2EQEA -1 (HelA] 1) 842 F=
75.0

>>> s[-2] #2)2EQEA -1 (HelA] 1) 82 F=

70

>>> s=['math',80,70,75.0] #z|~=E A (x)

>>> sl0:2]  #0WAFE 29A 2] vlE A7A] 9] £ 2 2E slicing

['math',80]

>>> s[1:-11 #3 Fle] gt g Ak Al A HEYXIE
[80,70]

>>> s[1:] #10 A vz 27ix) o] F-EIE
[80,70,75.0]

>>> s+s #Z ZE F, Y X2E EA
['math',80,70,75.0, 'math',80,70,75.0]

>>> s+[1000,20] #2)2E QA

['math',80,70,75.0,1000,20]

>>> s[:2]+['english',90] #¥ 2 E slicing, 9%
['math',80, 'english',90]

> 2xs[:2] #2] 2 E slicing, A
['math’,80, 'math’ ,80]




2.18] 2 E(list) (cont.)

BHRAAE 3A FEIYAEAA IYAE A9 g AE clear,max,min

>>> s=['math'.80,70,75.0]

>>> s[:2]=['eng'.100] #Replace some items
>>> 8

['eng', 100, 70, 75.0]

>>> 2[0:21=1] #Remove some items
PP 3

[70, 75.0]

>>> s[0:0] =['math',100] #Insert list

e 2

['math’, 100, 70, 75.0]

>>> s[:0]=s #Insert (a copy of) itself at the beginning
PP 3

['math', 100, 70, 75.0, 'math’', 100, 70, 75.0]

>>>» s[:]1=[] #Clear the list: replace all items with emp
ty list

PP 3

]

Qe A 0 1 2 3
ZAE s=['math', 80, 70, 75.0]
g A —4 -3 -2 -1

>>> score=[ 'math’ ,80,70] #% &7k 7|2
>>> g

['math', 80, 70]

>>> s[1]=90 #s A WA

>>> g

['math', 90, 70]

>>> s[1:1]=[10,20] #ZUAI™ &AM 9 DN E= [10,20]
>>> g

[ 'math', 10, 20, 90, 70]

>>>

it
o

>>> max(score)
90

>>> min(score) EENPSESES

70

>>> [max(score),min(score)] # Z|10 %N
[90, 70]

>>> max(score) ;min(score) # ot =0 o2&

90

70
>>>

2
o




& 828 ) ) e AT
cdgusE RET Y A 4
2 2E9) gk

>>> a=(1,3.4,—5) #Define a tuple
»>>>a

(1, 3, 4, —5)

>>>a=1,3.4,-5 #4E=H ZE tuple
>»> 4

(1, 3, 4. —5)
>>> b=(11,)
>>>b

(11,)

>>> b=(11) #3T4
»>>>*b

11

>0

#3 da

39

»>>> a=(1,3,4,-5) #Define a tuple
>>> a[0]
1
>>> al0]=
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
TypeError: 'tuple' object does not suppor
t 1tem assignment

>>> a[:2] #slice tuple
(1, 3)
>>> a(:2)
File "<stdin>", line 1
a(:2)

SyntaxError: invald syntax
e




2.3 A ¥ (dict)

« AP (G E) 9 A= 7] (key) & #t (value) o] 2= A2 ol ).
AL g A e e, B Al A, (key,value) Y, =

>>> price={} #79 AAEES 79

>>> type(price) #H T price 9 B A3,

<class 'dict’ > # ‘dict’ <= dictionary9 ArAE ] o]Folth
>>> price['samsung']1=42000 # (key,value) = (samsung,42000) & F7}
>>> price #A1A (B9 5) prices] AZdE J&8<

{ ' Samsung ' : 42000}

>>> price[ ' Daum KAKAO ' 1=80000 #( ‘Daum KAKAOQ® ,80000) 57}

>>> price #A1A pricee] AZFE JE£HA

{'samsung": 42000, 'Daum KAKAQ" 80000}

>>> price['samsung’ ] #AFE priceelAdl key= ‘samsung’ ©=% FE FE(HH) @t}
42000

>>> price['Daum KAKAOQ']

80000




2.3 A3 (dict) (cont.)

>>> price[0] #=AE Fx B3 G5 7|2 ZEsloi sk
Traceback (most recent call last):
File " <stdin> ", hne 1, in <module>

KeyError: 0

>>> #AIA R AL 7|3 42 Y key m

>>> price = { ' Daum KAKAO ' : 80000, 'naver ' :800000, ' daeshin ' :30000} aver 20000

>>> price # At priced] 25 24 (key,value) S ¢lo] 2.7]

{'Daum KAKAOQ': 80000, 'naver': 800000, 'daeshin': 30000} S e | S

>>> del price['naver’ ] #AF price?lA 71 naver®] 84 (naver,80000)< 4F daeshin 30000

>>> price # A} priced] 2 E 2.4 (key,value) 2 2jo] 2.7] key m

{'Daum KAKAQ'" 80000, 'daeshin': 30000}

. Daum KAKAO 800000
daeshin 30000




2.3 A3 (dict) (cont.)

« AP () oll A 7] =5k @l 27
>>> price = {'Daum KAKAO': 80000, 'naver':800000, 'daeshin':30000}

- L
>>> price

80000
{'Daum KAKAO'": 80000, 'naver": 800000, 'daeshin’: 30000} e
>>> price.keys () #2148 priced] 2 E key 242 910 2.7] Daum KAKAO 800000
dict_keys(['Daum KAKAQ', 'naver', 'daeshin'l) 22l 30000

>>> list(price.keys()) #AM priced key 242 |~ E o3 g
[Daum KAKAQ', 'naver', 'daeshin']

>>> list(price.values()) # AHE priced] &t 84 gAE Eo=z HE
[80000, 800000, 300001

>>> 'naver' in price.keys () #naver7} AFA priced] 7)o Qe o=z

True

»>>> ‘Naver' in price.keyvs () #Naver?} A}A priced] 717} 71 gle oz AF
Falze

>>> price['naver'] >>> price ['Naver’ ]

800000 Traceback (most recent call last):

File "<stdin>", line 1, in <module>

KevError: 'Naver!
e




2.3 A3 (dict) (cont.)

A B o

emos=['ang','neu’,'sad’,'neu’,'neu’]
ecnts={}
for e in emos :

if e in ecnts.keys() : ecnts[e] +=1

else : ecnts[e]=1
#{'ang": 1, 'neu’: 3, 'sad": 1}
kvs_list=sorted(ecnts.items(),key=lambda kv:-kv[1])
#encts:[('neu’, 3), (‘ang', 1), (‘sad’, 1)]




2.4 A5EA

1. 20194 8¢ &9 A HdA}F F71el tstho,
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LU = A T

print ) Y t}.)

print() Y t}.)

g ahA 2. (

1. Y2 price® o) £3) 1Y Fol M HF A wUW 23} b ook =

of =93k <.

Y AE prices o| &3 249 FUHE st ZHSHA Q.

6. Exte}t T7HE 719k ¢t = A H = AR (dict) price28ts FEEA Q.

7. A price2 & ©]8-3l 08/304 9] F7}

2 =g

= =

3k 2.

0&/26
0&/27
= 0&/28
0g/25
0&/30
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l

o E:

T

o R
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o

LU

e

HASQ,

g AEA F

g AE oA F

ZE71

43,600
44,050
44,150
43,400

44,000



